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1. Choose the correct answer : 1x8=8

(@) NNP at factor cost is

(i) equal to national income

(i) more than national income
(iii) less than national income

(iv) None of the above
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(d) Which of the following statements does

not support Keynesian  theory of

employment? ‘

(i) Employment depends upo
demand

(ii) Effective demand depends upon
aggregate demand and aggregate
supply functions

supply
to be

n effective

(i) Aggregate .functi.on is
assumed given 1n the
" short-rurl :
1 i ding
(iv Aggregate supply function excee

; aggregate demand function expands

employment

(e) (l—g) means

(i) APC
(i) APS
(iii) MPC
(iv) MPS

following is not a real

() Which of the
investment?

(i) New capital stock
(i) C
(iii) Share capital ©

(iv) Inventories

onstruqtion work
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Answer the following questions (within 500 words

tach) :
different methods used

nt of national income?
re method of

3. (a) What are the
for measureme
Explain the expenditu
calculating national income.

Or

What is meant by circular flow of

national income? Explain the process of
circular flow of national income 1n &

two-sector economy-.

(b)

classical theory gf
On what ground has it
d by Keynes?

Or

Explain the

employment.
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departures from

mployment. Describe

(b)
f Keynesian
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2+10=

8+3=
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12

2+10=12
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8+3=11

g+3=11
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(6)

Explain the Keynesian theory of interest
diagrammatically. Mention some of the
criticisms levelled against this theory.

8+3=11
Or

(b) Derive the IS and L

M functions. How do
they determine ge

librium?
neral equilibrium el i

Distinguish between open economy and
closed economy. Examine the openness
of Indian €conomy,

Or
(b) What is Y disequilibrium in
ayments? Discuss the
causes of disequﬂibn'um in the balance
of Payments.
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